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i)
e angle of minimum G€

For a g1as% prisi; th
: 5/ the light of

/, A) red colour
@) blue colour.
©) yellow colour.
(D) green colour.

/. . R o :

g A biconvex lens of glass having refractive

visible and behaves a

liquid. It becomes in
refractive index of the liquid is

(A) 147
(B) 162
(© 133
(D) 151

7./ The resistance
account of
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Ifthge,pgt electric flux through a Sy T oy

(A)  no net charge is enclosed by the surfa: :
(B) uniform electric field exists within the surface,
(C) electric potential varies from point to point; ’

(D)  charge is present inside the surface.
Kirchhoff’s first rule at a junction in an ele
conservation of T ol
(A) energy
(B) charge

(C) momentum

% sical RN
{4 .

(D)  both energy and charge e







E A

~ Using Bohr’
Orbitz:iieatomic. model, derive the
revolving electron in & hydrogen atom.
Tite two main observati OR '
ions of pbotoelectric effect riment
in’s phot.oelectric equation.

ch coul
E a gli only be explained by Binstein
§ ph showin oot
=0 g variation £ photocurre with the anode
tial of a photocell. s 2
inciples obtain

ns privt
passes from 2 rarer

expresaion for the radius of
: 2




ent, light of wavelength A illuminates

diffraction pattern is observed
distribution in the pattern wit

on a screen.
h the angular

L
e
(i) width of slit is increased, and

o/ separation between slit and screen is decreased ?

ar width of central maxima

S

4 ; ¢ 5
:alI; of a Slkl‘np.le dlagram , explain the working of a silicor
all three basic processes involved. Draw its I-V char: \

an inductor L are connected in
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SE(?J"!'ION D

g on the rectangular
Derive the expmgg.lo:’lffoﬁin?;q Why 1s the magnetic field
radial ? .
particle is accel erated Wugh pobentlal difference of 10 kV
moves along x-axis. It enters a region of uniform magnetic
9 x 10-3 T acting along y- Fmd the radius of its path.
mass of a-particle = 64 10-27kg)
5 OR L8
the help of a labelled diagram, © xplain the ‘working of a
ap transformer. Give reasons t0 to explain the followmg
he core of the transformer ;s laminated.

hick copper wire i used in windings-

rod PQ of length 20 cm and resis
allel rails of negligible resistance
ils and the arrangement is p
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(b) An astronomical telescope has an ohjective 1ensiof focal Jength
20 m and eyepiece of focal Jength 1 ¢™
(6) Find the angular magnifi cation of the telescope.
(i)  If this telescope is used 0 view the Moon, find the diameter

of the image fordled by the obJ ective lens. Given the
diameter of the Moon is 3' 5 x106m and radius of lunar orbit

5

is 3-8 x 108 m

"OR

a concave mirror. It is observed that
the ray diagram to show the

rror equation = ==+ L

§  An object is placed in front of
a virtual image is formed. Draw
oe formation and hence derive the m1

_surface of radius of curv:
aterial of the lens is 1'5,

law, derive expressmn for
umform charge distributior



(a)

(¢)

Find the expression for the potential energy of a system o
point charges q; and gz located at ?; and ?2)', respectively i

=
external electric field E .
Draw equipotential surfaces due to an isolated point charge
and depict the electric field lines. '
Three point charges + 1 p.(IJ, = uCand + 2 uC are initially in
distance apart. Calculate the work done in assembling
charges at the vertices of an equilateral triangle of side 10




